j Bunt for L ife

PUB30

MOUNTLESS PULL UP/PUSH UP BAR

OWNER'S (X MANUAL




Table of Contents

SAFETY INSTRUCTIONS...........ceeiiiiieee, PAGE 3
PART LIST / ILLUSTRATION... .....cccovirnene. PAGE 4
ASSEMBLY INSTRUCTIONS.........cccccceeeeee PAGE 5
INSTALLATION INSTRUCTIONS................... PAGE 6
EXERCISE GUIDELINES............cccoviiiiiieeeeeee, PAGE 7

CONTACT PAGE.......c i, PAGE 8




Important Safety

Instructions

When using e xer cise equipment, you
should always take basic precautions,
including the following:

Personal Safety During Assembly

Obtaining Service

Ret ain this Owner’s Manual for future

ref erence. If you need to order replacement
parts please be prepared to provide the

fol lowing information when contacting us so
that we can assist you better.

1. Model Number
2. Place of Pur cha se
3. Part # and Description

THERE IS A RISK ASSUMED BY INDIVIDUALS WHO USE THIS TYPE OF EQUIPIENT.
TO MINIMIZE RISK, YOU MUST FOLLOW THESE RULES:

. Inzpect equipmenl before each workoul. Check thal all nuts, bolts, serews and pop pins
are in place and fully tightened. Also, before use, check cables for signs of wear. Replace
all worn parts immediately. Never use machine if any parts are domaged or missing.
Keep clear of the cables and all moving parts when the machine isin use.

Always make sure all Snap Links are closed when doing any cable/pulley/strap exercises.
Exercise with care. Perform your exercises al @ smooth moderale pace; never perform
jerky or uncoordinated mevements that may cause injury.

Itis recommended thot you should workout with a training partner.

Do not allow children or minors to play on or around this equipment.

I unsure of proper use of equipment, call your local Body-Solid distributor or

the Body-5olid customer service depariment al 1-800-556-311

WARNING: Consull your physician before starting your exercise program. For your own
safely, do nol begin any exercise program without proper instruclion. pas-g-g3 WE-54

P MO kW




Part#

© 00 N O O b~ W0 N -

O G G
o o0 A WO N~ O

Part

Size
NA
NA
NA
@ 45 X 80mm
@ 35 X 210mm
@ 55 X 100mm
348 X 24 X 3mm
@ 25mm
M6 X 55mm
M6 X 45mm
M6 X 16mm
M6
M6
NA
NA
NA

List / Illustration

D escription

INNER BAR
OUTER BAR
PARALLEL BAR
FOAM ROLL
FOAM ROLL
FOAM ROLL
EVA PAD
ROLL TUBE WITH CAP
SCREWS
SCREWS
SCREWS
LOCKNUT
WASHER
CROSSBAR
STRAPS
WRENCH

Quantity

N N N DN

—_—

A B~ D DD NN O




STEP

1

Be careful to assemble all components
In the sequence they are presented.

Note: Some parts may be pre-assembled.

Insert the Inner Bar (1) into the Outer Bar (2). Attach the Inner Bar to the
Outer Bar with two M6 x 16mm Screws (11)

Orient a Parallel Bar (3) so that the Foam Pad (6) is in the position
shown. Attach the Parallel Bar to the Inner Bar (1) with an M6x 55mm
Screw (9), an M6 Washer (13), and an M6 Locknut (12)

Attach the other Parallel Bar (3) to the Outer Bar (2) in the same way.

Attache the Crossbar (14) to the Prallel Bars (3) with two M6 x 45mm
Screws (10), two M6 Washers, and two M6 Locknuts




Installation on Door Frame Instruction

The bar can be installed in a high position for pull-ups, chin-ups, and
off the floor core exercises. The bar can also be installed in a low
position for sit-ups

To Installthe bar in the high position, insert the bar through an

open doorway. Set the crossbar as far as possible onto the edge of the
door frame. Then, brace the ends of the bar against the opposite side of the
door frame, make sure that the crossbar and the door hinges are on the
same side of the door frame. See Figure #1.

Warning: The bar is designed to fit door frames with a width of 27.5-

30 inches (70-78cm) and a depth of 4.5-6 inches (11-16¢cm). Do not install
the bar in a door frame that does not meet these specifications. The
crossbar must rest on the top edge of the door frame when the bar is
installed in the high position. See Figure #2.

Side View

gl

p— o
Minimum Depth Maximum Depth
4.5" (11 cm) 6" (16 cm)

Figure #1 Figure #2




Exercise Guideline

When installed in the high position, the bar offers three bar position: wide,
narrow, and parallel that allow you to perform pull-ups, and chin-ups.
See Figure #3 and #4.

Figure #3 Figure #4




Exercise Guideline

When the bar is installed in the low position, you can put your feet under the
bar to provide support for your lower body whie you perform exercises such as
sit-ups and crunches. See figure # 5.

Figure #5

You can also use the bar to perform dips or push ups when you place it on the
level surface. see Figure #6.

Figure #6




go c .

Bunt for Life

PUB30

MOUNTLESS PULL UP/PUSH UP

1900 S. Des Plaines Ave.
Forest Park, Il 60130
Phone:(708)427-3555

Fax:(708)427-3556
Hours: M-F 8:30 - 5:00 CST

www.bodysolid.com

Copyright 2009. Body-Solid. All rights reserved. Body-Solid reserves the right to change design and speci!cations when we feel it will improve the produc
Body-Solid machines maintain several patented and patent pending features and designs. All rights reserved on all design patents and utility patents.



